Problem 2.3

If the 
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 resistor in the network shown absorbs 2.5 mW, find 
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Problem 2.12

Find 
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, 
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 and 
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 in the circuit shown.
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Problem 2.14

Find 
[image: image14.wmf]x
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, 
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 and 
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 in the network shown.
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Suggested Solution

[image: image42.wmf]12

mA

3

mA

2

mA

4

mA

I

x

I

y

I

z



[image: image17.wmf]0.0030.012

x

I

+=


   
[image: image18.wmf]9 mA

x

I

Þ=



[image: image19.wmf]0.0120.0020.004

y

I

++=


   
[image: image20.wmf]10 mA

y

I

Þ=-



[image: image21.wmf]0.0040.002

z

I

+=


   
[image: image22.wmf]2 mA

z

I

Þ=-


Problem 2.19

Find 
[image: image23.wmf]ad

V

 in the network shown.
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Suggested Solution

KVL:
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Problem 2.24

Find 
[image: image26.wmf]bd

V

 in the network shown.
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KVL:
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Problem 2.31

Find 
[image: image30.wmf]o

I

 in the circuit shown.
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Suggested Solution

Using current division,
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Problem 2.41

Find 
[image: image32.wmf]AB

R

 in the network shown.
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Suggested Solution
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 resistor is shorted.  Therefore, the network reduces to:

Then,
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Problem 2.78

Find 
[image: image35.wmf]o

V

 in the circuit shown.
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Suggested Solution

KVL:
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